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Ada contemplates

the mathematics spoken slowly, in a very serious manner
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Suppose that a equals three, b equals two and n equals thirty-six.
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We must now put into the engine the cards proper for directing the operations.
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Of course, we could divide three by two and multiply the answer by itself thirty-six times.
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A tempo (J=48)

spoken but towards singing, detached, trance-like
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the num - ber of steps can be re -  duced.
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Three by two by it - self to give three by two. squared.
Tuning Fork placed on bell of Cymbal 2
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I A - gain by three by two to get three by two____ cubed.
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happily, routinely, knowingly f
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